Concept Lecture - 10




/\ The numbers 2, 3, 4 and 5 occur
) 49k K210 = 9. @ + 5%),(5k — 7),(2k — 3)

U+ L%“’_'EL( QH'?_ -I72‘ +E_+' llﬂE BK_Jand (k + 2) times, respectively.

-l-2 20 The average of the numbers is

> §%8’K -J/Q/Z_Q/I/S?C;g(_é,) 3_401-_2._85' Later on, the number 2 was

replaced by 6 in all the places. What

—+6U is the average of the new numbers?
<0 - FEard 2, 3, 4 I 5 FHEA:

= Yok-20 =29 (2 + 5k),(5k — 7),(2k — 3)
g T (k + 2) IR 3¢ & wEETH

_ ta, ~
o) nlFE Ty by o
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staa T FI

a)2.4 “/)5.25

)3.85 d)4.75
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x,y and z are three positive numbers such
that yis. 2 t¥nes of x and z is > tlmes of

L 7z 6o+60

|00., Qa,' 50 422 If the average of recnprocals of the

29 b ]O 2 numbers x,y and z is %, then the

r— I J | ] ,7 X/g/ average of 3 times of x and 5 times of y
_—t -t = == will be:

loe Yo 5 o xy 3R z AT YaAHS TEAW A

Tl TR E oy, x F LI AR 2y

) =¥ F1 2 I ) afE wEw vy dR 2z &

&£To.  _ZO -q?ﬂr’ra:raﬁaa;:%aﬂxa;;n;r

2=Q ﬁty%Sﬂﬁwaﬁaamﬁ|
70 b)60 c) 40 d) 45
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A__:_E c AB and C are three positive number such
Ti that the average of three-fifth of A and

_ai_ﬂ +_3_ B = 27 30% of B is 13.5, and the average of %
5 (D times of B and 25% of C is 15. If A is equal
2 to % times of C, then the sum of all three
2 | A numbers A, B and C is:
78_931'}_')@_2—30 A, B 3R ¢ 9 4aIcA® H§EAI0 39 YR

b %%Aa:gaﬁtsa:m%anaﬁwr

K \513_5%3ﬁ133§%ﬂﬁ3ﬁTC$25%ﬂ
stwa 15 ¥ AR A, ¢ F 2 T F TR

o A=a5 g, ar der Tt A,Baﬁtcaﬂa’nm
%‘\‘(0 AT Y
C=&) \af125  b)135 ) 145 d) 120
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While listing N consecutive even numbers
for determlnlng " their average, the last
number, by mistake, got replaced by the
36 %] next odd number and thereby the average
turned out to be more than the desired

nr* value by 0.0125. What is the value of N?
IxJ0pp O ;a?g:wa?;ﬁaﬁa:rﬁaﬁaaﬁmﬁ
I AT fAE
Wﬁf’% HEAT & T W et § 3eTeh R

e fow & 18, 39 YR ured 3ia
gifda sitaa & 0.0125 3f@0F & =AM N
HT A hdar g2

80 b) 40 c) 50 d) 100
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What is the average of numbers from 1 to 50 which are multiple of 2 or 5?
(correct to one decimal place) 2,. .,5'0

1 @ 50 d& #T 37 &I &1 AT (GAHAT & Th TYT dF TaY)
AT H, AT 2 AT 5 0TSt (multiple) 87

a) 25.9 25.8 / c)25.4./ d) 26.4
/o 5,15,25, . WSl s
m@)+m(B2) L 2

26x25 435%5 —xX
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The arithmetic mean of the following numbers

Sy fa2e. 41T (D2.2)3,3.3,4,4,4,4,5,5,5,5,5,6,6,6,6,6,6
= and7,7,7,7,7,7,7is

“-.+7 ) ) ) ) ) ) . N

NO.  HZ4%+ 5 faefaf@a qEqTHt

27 m_l_g:)é.122333444455555666666
— 3R 7,7,7,7,7,7,7 & FNFAOTNT AT

/6/)(% FT &7
a)4 % c) 14 d) 20

) 23X, 543, Uxy,
?— 'Ll ‘32 \_1




575
25 .5
o -2.2
55

The average weight of 30 persons of group A is 3
kg more than the average weight of 25 persons
group B. The average weight of 25 persons of
group B is 2.5kg more than the average weight of
20 persons of group C. If the total weight of 30
persons of group A is 1725 kg. then will be the
average weight of the persons of group A and

. 8roupC taken together (in kg)?

WAa:soaqﬁ?rq’rmsﬁ'\qr-rm BF 25
& tad gua § 3 kg fAF
ms#ZS—qﬁ?rq’rﬂaﬁ'ar-raa?rm
C & saiFadl & taa gorT @ 2.5 kg HOF
g IR WHE A F 30 AT FT FA doreT
1725kg%a’rmA3ﬁTmca:-zrﬁm’r
maﬁaaaaa(kg)#ﬁmmam?
55.3 b)55.4 ¢)55.1 d)55
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-~ The average of 27 numbers is zero. Out of them,
+231% =324 8

T2 ~2¢ uz,;] Sy how many may be greater than Zero, at the
=27x0 most?
VARV V) . = o 27 wEEt @ odtwa e B 3R 9,
IAFaR fFaa T @ 3OF g gHha 37
a)o b) 15 /?(26 d) 20
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Lﬁ" Mt _,\33" Wt 1M
l\ 2 ». ... 251 54
~N
91 DY

The mean of 15 different natural numbers is
13. The maximum value of the second
largest of these numbers is

15 e wrfas Bt & itaa
13 @l qEd we¥ 99 wewn Aftwan
AT FIT B19M?

a) 53 b) 52
J\—\/—J/; 51 d) 50

|%X15: 19 5
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Su,(v)-;l’ﬂ =102
Sum—5n= |2

When 2 is subtracted from each of the given n
numbers, the sum of the numbers so obtained is
102. When 5 is subtracted from each of them,
then the sum of the numbers so obtained is 12.
What is the average of the given n numbers?

ST & 7€ FEIBT 0 HF ¥ I&AF q 2 "™
ST §, o WIod W&ATAT HT AT 102 @
ST 8] 919 3919 § 9dF & 5 "™ Al
g, d 9rod HEATE FT AT 12 8@ AT
& € n TEI3t &1 taa T {2

a58 54 6.6  d)6.2




+_’_x2‘j-—-+%
124

A boy was asked to write the first 23 natural
numbers. By mistake he wrote a number twice.

If the average of all the numbers is @ hat is
the number which is written twice?

frdl @sF # 9UH 23 UHfas FEAC
fa'@ﬁas‘rmmmwm?h#mw

gear & & R fow fEan e wsh
msﬁmaﬁ'\q?mz g d 98 "= Ad
a?ta’ramﬁ'@"rgé%'?

a) 9 b) 12 03 ,56’15




A list of first 25 natural numberseritten on a
board. What number must be deleted from this list so
that the average of the remaining numbers should be
13 '?

t;ramzs YrHfds &AW # ¥ 9% Sl W e
w@rawa?ﬁramaiﬁeémmaﬂaﬁaa

13 o1 SITU?

a) 9 b) 8 c) 16 ﬂ7 e)4




If the average of 43,47 and x is equal to the
average of 40,59,61 and vy, find the

+U7+% [ | +Y difference between x and y?
sk - 51+ IR 43,47 AR x FT dET 40,5961

) 4q ﬁ?y*ﬁ!ﬁ'ﬂ'?m%?ﬁxi’:ﬁ?yﬂ
AT AT
a) 10 b) 30 c) 40

LhL_ 5\3' 5 ‘7 d) 70 /fcan't be found

7(—‘3 =

| | 14



While finding the average of six two digit
numbers, a student reversed the digits of one
number say ‘n’ and hence got the answer 6
more than the actual. Which of the following
can be the value of n?

6 ar I i &I & dwa @AwEd
AT fFdl o F 397 q S & ‘n’ &
& F 3ear fow far Gwd sitaa & @
6 3 F R g M| ‘n’ F AT AT F?

)24 w51 A48 )ef%%
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-,2x5= -

- X2[=-21

2l
+3%

In a school, there are five classes (say 1 — 5) of 20 students each.
The class weight) is defined as the average weight of all the
students of that class. School weight, is defined as the average of
all the class weights, of that school. A new student of weight
38 kgs joined in class 1 and as a result, the school weight is
decreased by 0. 2 kg. find the present class welght of cIass 17?

forelt fare@mers 1#5%53?&@% :ﬁrq?aa?ﬁ

a)17 kgs b)18kgs c)58kgs d)59 kgs JNone of these
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,\[0' gﬁ Ni(,kd,@ = A bowler, whose average is 24.85 runs per
wicket. In next match he takes 5 wickets for

52 runs and thereby decreases his average by

2(’],8531(/;) +51 "02(‘[ ((")""5) 0.85. The number of wickets taken by him till
the last match is?

M a0 T dgarsd, fSradr digaret dtaa 24.85

AW =L EUR  m uhr R ¥ o dw F s sz

i W &Y 5 fade v 3k 3@ O 39T
(= 20 daa 0.85 FA @ | wfAd Aw aw
=8 o ZaNT AT AT ReE &1 dear

2?2
,/ 80 b) 75 c) 85 d) 90

I—l 17



-TB"h& Wi Ut = (/\) The bowling average of a cricketer was 12. 4. He
improves his bowling average by 0.2 points
_———— —

hen he takes 5 wickets for 26 runs in his last
- 2@1—5 w
IZ-Lf W *26 lz' match. The number of wickets taken by him
before the last match was:

yz\,\;-;?)‘S;gg— tF fhher &1 digast daa 12.4 o

= 3egld 39 dgarsit T A 0.2 AT FH
L - FUR fFar S9 gl e anfedr dw &
=179 26 T 33 5 fade fav| faw Aw ¢ wR
< 3% oar faw v fadet i wear -
g 3125 b)150 75 d)200
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